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QUESTION 1

Your customer complains that u host will constantly report losing a connection to the iSCSl target and then report that
the session was reestablished. 

As shown in the exhibit, what is a cause of this flapping? 

A. A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 have the same IQN. 

B. A host with an IP address of 172.20.10.80 and a secondhost with an IP address of 10.10.20.60 are in different
initiator groups. 

C. A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 are accessing the
same LUN. 

D. A host with an IP address of 172.20.10.80 and a secondIP address of 10.10.20.60 is accessing different LUNs. 

Correct Answer: C 

 

QUESTION 2

When you review performance data for a NetApp ONTAP cluster node, there are back-to- back (B2B) type consistency
points (CPs) found occurring onthe loot aggregate. 

In this scenario, how will performance of the client operations on the data aggregates be affected? 

A. During B2B processing, clients will be unable to write data. 

B. Data aggregates will not be affected by B2B processing on another aggregate. 

C. During B2B processing, all I/O to the node is stopped. 

D. During B2B processing, clients will be unable to read data. 

Correct Answer: B 
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QUESTION 3

Your customer has deployed a two petabyte NetAppONTAP FlexGroup volume across their 4-node ONIAP 9.8 cluster.
They plan to store over three billion files. They want to prevent file 10 conflicts since files are placed into the FlexGroup
volume. 

In this scenario, which two NFS SVM parameters should be enabled? (Choose two.) 

A. -v3-64bit-identifiers 

B. -v4-fsid-change 

C. -v3-fsid-change 

D. -v4-64bit-idantifiers 

Correct Answer: AC 

 

QUESTION 4

Your customer complains about missing volume snapshot copies on a SnapMlrror destination. While investigating this
case, you notice an executed SnapMirror resync operation in the event logs of the system. In this scenario, what Is the
cause of this problem? 

A. Newer Snapshot copies than the common snapshot that was chosen for resync were removed automatically at the
destination. 

B. The autodelete option removed Snapshot copies before the resync. 

C. Snapshot copies were manually removed from the destination after the resync. 

D. NetApp ON TAP System Manager removed these snapshot copies due to a snapshot schedule. 

Correct Answer: C 

 

QUESTION 5

After a normal power down of both nodes forbuilding maintenance, Node01 of a 2-node cluster cannot be powered back
up; however, all disk shelves are powered. Which action should be performed to bring the cluster online and allow
Node02 to serve data? 

A. Recreate the cluster with the system configuration recovery cluster recreate -from node command. 

B. Reboot the node With the system node reboot -node Node02 -bypass-optimization true command. 

C. Perform a takeover with the storage failover takeover -ofnode Node01 -option forcecommand. 

D. Reinitialize the cluster with option 4a from the boot menu. 

Correct Answer: A 
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